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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Cyxosicbke 23 1 7,6 - - - 7M33C3+JIng 80 | 0,70 | 2 25 32 330 2e | BCP CroB6ypoBi Ta KopeHeBi rHuI 40 He BusiBneso
Cyxonicbke 46 1 [ 26,0 - - - 1013 120} 0,60 | 2 26 32 290 2¢e | BCP C1oB6ypoBi Ta KOpeHeBi rHII 45 He ussncHo
Cyxomnicbke 49 6 44 1 (1) ] 24 2,4 6C32132JInn 98 | 0,70 | 1 28 40 380 2e | BCP | KoMmiekc cToBOYpOBHX LIKIJHUKIB 45 He BUIBICHO
Cyxomnicbke 62 2 1 63 - - - 5C33NInnl 43103 9010701 1 27 36 o 320 2e | BCP |Komruiekc cToBOYpOBHX LIKiTHHKIB 72 He BusBneHO
Cyxonicbke 62 4 9,5 - - - 7C32/131JInn 67 10,70 | 1 24 3V /] 320 2¢ | BCP |Komnnekc cTOBOYPOBHX IIKifHHKIB 76 He BussneHo
Beboro 53,8 2.4 2.4
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